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QUESTION 1

The IBM Security Access Manager V9.0 high-volume database stores data for which component?
A. Cluster

B. Runtime Server

C. Advanced Access Control

D. Distributed Session Cache

Correct Answer: B

QUESTION 2

Which settings\\' default value needs to be changed to prevent loss of data when using a SolidDB external database for
the runtime?

A. Driver Type

B. Cluster Config

C. Durability Level

D. Tuning Parameters
Correct Answer: C

Reference: https://www.ibm.com/support/knowledgecenter/en/SSELE6_8.0.0/com.ibm.ammob.doc_8.0/
task/tsk_deploy_extnl_hvdb.html

QUESTION 3

A company wants to use a different authentication option than username and password to access the company\\'s web
portal. The security deployment professional is in the process of deploying an IBM Security Access Manager 9.0.0
solution for the company to protect its web portal.

Which authentication method should the deployment professional consider?

A. NTLM Authentication

B. Basic Authentication

C. Form based Authentication

D. Client-side certificate authentication

Correct Answer: B
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QUESTION 4

An IBM Security Access Manager (ISAM) V9.0 environments is configured with Primary and Secondary Masters
servers. The Primary master node becomes unavailable and ISAM deployment professional promotes the Secondary
Master node to a Primary Master.

What happens to the original Primary Master when it becomes available and rejoins the network?

A. It is automatically removed from the cluster.

B. It is automatically demoted to the role of a non-master node.

C. It is automatically promoted to the role of a primary Master node.

D. It is automatically demoted to the role of a Secondary Master node.

Correct Answer: C

QUESTION 5

A network contains an additional network segment between the user segment and the appliance. This causes traffic to
flow in and out on different interfaces.

How can this be overcome?

A. Use static route

B. Use a default gateway

C. Use vector based routing

D. Use Virtual Host junctions
Correct Answer: A

Reference: https://www-01.ibm.com/support/docview.wss?uid=swg22017189andaid=23 (80)
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